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HOE OE ¥ G 232,938 20 16 100.0 0.71 0.72
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BEKER = S magEk | ST % |mev—exx| Tl FEXER wx Shanb®)
FR2E T 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
TRL235E T 100.5 101.1 101.1 3023 103.6 98.8 96.8 97.3 102.7 97.8 94.0 99.2 987 101.3 2013 923
T35 8A 99.9 1023 996, 304.6 103.5 985 96.5 975 103.2 97.0 935 984 995 102.1 2007 90.3
9A 100.4 101.9 101.6 3043 103.7 98.1 95.6 97.7 1038 97.2 929 99.0 99.1 101.9 200.1 90.8
108 100.4 1015 101.8 303.2 103.5 98.6 95.9 97.2 105.3 976 925 985 99.4 101.1 197.1 90.1
1A 100.4 1015 101.9 3023 1038 985 957 975 105.5 975 92.1 984 995 101.6 197.1 91.0
128 100.4 1015 101.8 3015 104.1 96.2 95.6 96.6 106.1 98.3 94.5 98.9 100.0 1017 196.7 89.8
FR24% 1R 1024 361.2 979 3005 104.0 96.5 95.3 1358 105.9 98.6 947 95.7 100.0 101.6 197.3 920
WA (%) 20 255.9 A38 A03 Aot 03 A03 406 A02 03 02 A32 00 Aod 03 24
IR A K (%) 1.6 271.6 A 24 04 13 A 44 A 22 384 5.5 A13 A4 A 60 29 22 A 41 A 59
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